Subject: Reloading of Flying vehicles.
Posted by Phoenix - Aeon on Fri, 30 Apr 2004 23:20:17 GMT

View Forum Message <> Reply to Message

Christ the Avenger's 6m long, weighs nearly 2 tonnes with ammo and has a recoil of 40kN. The
Orca couldn't lift that gun and even if it could firing it would throw the Orca out of the sky, or more
likely tear it in half. I'm sure | saw something somewhere on this thread about balancing things.

On topic the aircraft need to be changed, the apaches are supposed to be AP and the Orcas for
tactical tank and installation strikes. As for the ammo 6 missiles for the Orca is the only number
that should be considered as it is what they actually have in TD, this is one where damge needs to
be tweaked not ammao. As for Apaches I'd say go with 200 - 250 rounds.
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